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Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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How would you classify resistors . Explain the 

method for measurement of low resistance using 

ammeter and voltmeter.

of a circuit with the help of power factor meter.

OR

***

11.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

The high torque to weight ratio in an analog 

indicating instrument indicates.

(a) High friction loss

(b) Low friction loss

(c) Nothing as regards to friction loss

(d) None of the above

In a series type of ohmmeter the zero 

adjustment should be done.

(a) By changing the value of series resistance

(b) By changing the value of shunt resistance 

      connected across the meter movement.

(c) By changing both series as well as the 

      shunt resistance.

(d) By changing the battery voltage
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Describe the working of a cathode-ray-Oscilloscope

with neat diagram. Give details of different parts of 

a C.R.O.

the measurement of frequency ? Explain the 

working of any one.

an electrodynamometer.

OR

OR

10.

6
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(iii)

(iv)

(iii)

(ii)

use.
(a) Eddy current damping
(b) Air friction damping
(c) Fluid friction damping
(d) Electromagnetic damping

prescribed limit of frequency change.
(a) PMMC
(b) Electrodynamometer
(c) Moving Iron
(d) Rectifier
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9.
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Describe the working of a low voltage schering 

bridge. Draw the equations for capacitance and 

dissipation factor. Draw the phaser diagram of the 

bridge under balance condition.

Describe how high currents and voltages are 

measured with the help of instrument transformers. 

Draw diagram for illustration?

a single phase induction type energy meter.

8.

6

6
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(iv)

(v)

(v)

(vi)

of wattmeter is
(a) Highly inductive
(b) Highly resistive
(c) Purely resistive
(d) Purely inductive

sation for static friction is provided by.
 (a) Shading bands which are actuated by to 
       provide a constant torque irrespective
       of load.
(b) Lag circuits
(c) Drilling holes in the disc
(d) None of the above
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OR

                 GROUP  - C

Answer all Five Questions.
6 x 5 = 30

7.

6

Describe the working of a flux meter with neat 

diagram.

(i) Moving coil instrument

(ii) Megger

(iii) 3-phase power measurement by 2 Wattmeter 

      method

(iv) Frequency meter

5

(vii)

(vii)

(viii)

(vi)

The controlling torque in single phase power 
factor meter is provided by
(a) Gravity
(b) Spring
(c) Stiffeness of  suspension
(d) None of the above

used for measurement of inductance of. 
(a) Medium Q coils
(b) High Q coils
(c) Low Q coils
(d) Low and Medium Q coils

1621305

P.T.O

NT3027



6 1621305

(viii)

(ix)

(ix)

(a) Between pre-accelerating and accelerating 
     anodes
(b) After accelerating anode
(c) Before pre-accelerating anode
(d) None of the above

the horizontal beam.
(a) Move from left to right on the screen
(b) Move from right to left on the screen
(c) Move from bottom to top of screen
(d) Move from top to bottom of screen

(x)

NT302715
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6.
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What are the different sources of errors in A.C. 

bridges explain the techniques used for their 

elimination/minimization of these errors.

bridges. Draw the circuit and obtain the equation 

of balance.
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OR

5.

 

Explain the sources of errors in single phase 

induction type energy motor.

the measurement of high resistance? How there 

difficulties are over come ?

OR

4

4

4.

NT3027 7

The smallest change in a measured variable 
to which an instrument will respond.
(a) Accuracy
(b) Precision
(c) Resolution
(d) Sensitivity

response of an indicating instrument.
(a) Deflecting system
(b) Damping system
(c) Controlling system
(d) Pivot and jewel bearing

 

(xi)

(xi)

(xii)

(x)
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OR

OR
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instruments. Give suitable examples..

Express the equation of motion of a d' Arsonval 

galvanometer in terms of the operational constants?

How is the current range of a PMMC instrument 

extended with the help of shunts.
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Which bridge is used to measure frequency.

(a) Maxwell

(b) Wien

(c) Anderson

(d) Hay

0
equal frequency and phase shift by 90 is.

(a) Straight line

(b) Circle

(c) Ellipse

(d) Dot

(xiv)

(xii)

(xiii)

(xiii)

NT3027
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Loss of charge method for measurement of 
high resistance is associated with the 
difficulties and errors owing to
(a) Leakage and absorption effects
(b) Duration of application of voltage
(c) Temperature effect on insulation resistance
(d) All of the above

circuit can be done by.
(a) One wattmeter method
(b) Two wattmeter method
(c) Three wattmeter method
(d) Any of the above

(xiv)

(xv)

(xv)

1621305

(xvi)
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(xx)

(xx)

A dynamometer type power factor meter has.

(a) One current circuit and two pressure circuit

(b) One current circuit and one pressure circuit

(c) Two current circuit and one pressure circuit

(d) Two current circuit and two pressure circuit

Answer all Five Questions.
4 x 5 = 20

2.

4

Describe the various operating forces needed for 

proper operation of an analog indicating instrument. 
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have.

(a) The same natural frequencies

(b) Different natural frequencies

(c) Different natural frequencies by the 

      difference in natural frequencies of 

     adjacent reeds is ± 0.5Hz

(d) None of the above

1621305
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(xix)

(xix)
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distinguished from each other by looking at.
(a) Pointer
(b) Terminal size
(c) Scale
(d) Scale range

resistance is?
(a) Manganin
(b) Aluminium
(c) Platinum
(d) Nichrome

(xvii)

(xvii)

(xviii)

(xvi)
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